NEREHER (ENE) R64E6 A B ETHR

Hh igf B4 ff - 24k 3 10.70M

. T . A
FhE# (AT %0
10%E 1HI&#H | 284 | 3EaH
2057 At 314 3,491H 3501 699H 1,048
3045 ATii 471 5,237 524 1,048 1,572
3043 LAk 1 B [ A i 823 9,151 916 1,831 2,746
1R DL 1 R 3043 K08 1,128 12,5431 1,255 2,509 3,763M
. L |BRERRRIE ISR DRE R 055 (2059)
Y—EARHIFRIZE 5% | i 20al 4 882 < E T 5554:90/100 294 3,269H1 327H 6541 981
D
2055 DS 294 3,269 327H 6541 981
404y DA 588 6,538H 654 1,308 1,962
604> DA (2045265 HiAir) 795 8,840 884 1,768 2,652
BRI 1 350 3,892 390H 779H 1,168
1HIZ-E
HEDINE I 300 3,336 334H 668H 1,001
BEEREEE RGN |1ENCOX 600 6,672 668H 1,335 2,002
B TR B .
AL 1ENCHX 250 2,780 278H 5561 834

3¢ PIEDING I (300N i@ ZE2 A (B H) 128 W T —E A0 < BRI L7258 « BB DB #E UTEN #E D E LRI
BRI B AL RELET,

¥ R (18:00~22:00) XILFE] (6:00~8:00) DA . FiEHNAEKD25%HY

¥ TR (22:00~6:00) DA, FTEHAED50%H

X FEFERE—EMOR HE TN USOE— B OF| FHE20 ALL EIZ —E2%1T5854 (X 90/100)

[RELRULIERNA 2]

,,,,, FIFA A
(BALER)
10%] 1HIAE | 25aE | 3Has
L 3043 ATH 1z X 254 2,824 283 565 848H
e mmEmEcn) |
3048 b 1ENCox 402 4,470/ 447M 894/ 1,341
o . 3043 AT 1ElIC X 201 2,235H 224H 447H 671H
B RFRIME(ID)
305 LL B 1ElicHox 317 3,525 353M 705M 1,058
RMERGARIFEING | 1D (101304 L L0 IE #AITIH ) 300 3,336 334 668 1,001
B ARG RH IR (1) 600 6,672 668 M 1,335 2,002
LHIZD&
L AR R P AN B (1) 574 6,382H 639 1,277 1,915/
BRI EINGL (1) 500 5,560 556 1,112H 1,668
1HIzo%E
RIS () 250 2,780H 278H 5564 834
B—IFATINE RO 2,500 27,800 2,780 5,560 8,340

[FIHEARBEE HAIE]
Hitd LGSR (10.70) X HEAZEL 3043 A0 (471) = 5039 (1A EI0#EC)
5039 X 0.9(IHIEHOYA) = 4535M M2EIEHDK130.8, 3FIAHDFIL0. 7201 TTES WY,

5039 - 4535 = 504 (1EIA#HDT)



NERENER (EXE) R64E6 A B ETHR

iz B : 54Kkt 10.70M

o A
(BALER)
10 IFAE [ 2%a#E | 3FEAHE
2045 ATt 303 3,369 3371 674 1,011
3043 A 451 5,015 502 1,003 1,505
3043 LA b 1R ARG 794 8,829 883MH 1,766 2,649
THRER] DA 1R 3050 A 1,090 12,120 1,212 2,424 3,636
P 2SR PREERE T EIC LB 084 (204)) 284 3,158 316 6321 948
O)ﬂ’(j?\; FH S o MY = K NS B
g AR ERE T O RSB H#ERR R D
M S ERTOSE o) | S W AU i el Il
FIFHABIELT- A 0D12 B B 2 - W4T %4 261 2,902H 291 581H 871
PR VR E T O R RIS AN E g B o
?_@@??ﬁi’i?f?%%ﬁ?%ﬁm%) 552 6,138 614 1,228/ 1,842
FIRZBIAELIZADB1I2 H 22 -8RITO8%E 522 5,804 581H 1,161H4 1,742
HIEDINE (1) T, 350 3,892H 390MH 779H 1,168
D
wEnE (1) 300 3,336 334H 668 1,001
SEpER LR | 1EIC DX 600 6,672 668 1,335 2,002
3¢ PIEINE I (3004 1Tl E2 A (B I8\ T —E A0 BRILZSA - BN BEN#E ITENENDE RIS
BRI AR ELET,
¥ R (18:00~22:00) MIXHHEA (6:00~8:00) DIEA. FTEHAIELD25%H
¥ RIR (22:00~6:00) DA, FEFNELD50%H
X FmEFEFR B ORI FE XN LSO R — @ OF|HF20 ALLEIZ—E 22175354 (X 90/100)
[#ZELRILLERARICBET5IE]
,,,,, FI B
CRELE0 0w [ 1mieam | emem | smam
s ) 3047 1mIZH& 254 2,824 283 565 848
% IR
30%7LL F 1ElicHox 402 4,470/ 447H 894 1,341
s D 3043 KT 1mIZH& 201 2,235[ 224 447H 671
% IR
3047 LL F 1ECox 317 3,525 3531 7051 1,058/
FREMREMBENA | 1ENT D& (15m305 B LS TR B #1754 300 3,336H 334 668H 1,001
B AR N (1) 600 6,672 668 1,335/ 2,002
1HIzo%E
B AR I N (11) 574 6,382 639M 1,277 1,915
R ENEL (1) (1RO 500 5,560 556 1,112/4 1,668/
FRREBME () |1HICo& 250 2,780 278H 556 834
[FIAHE AR k]

Hid LGSR (10.70) X HEAZEL 3043 A0 (451) = 4825 (1A EIVHET)
48251 X 0.9(IHIEHOYLA) = 4342/ X2EIEMHDH130.8, 3FIAHDFIL0. 7201 TTES WY,

4825 - 4342/ = 483 (1EIA#HDF)




